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THE HOUND OF THE BASKERVILLES  answer kev Lever @)

Before-reading questions

Reader’s own answer.
2 [tisin the country. It is a big house, so a rich
person lives there.
3 Reader’s own answer.
4 a Sir Henry Baskerville
b Mr Stapleton
¢ Laura Lyons
d Mr and Mrs Barrymore
5 a criminal
b dead
c bog
d Devon

e letters

During-reading questions

He is at home.

He lives with Doctor Watson.

He is from Devon.

Sir Charles Baskerville is dead.

Sir Henry Baskerville and Mr and Mrs

Barrymore are living at Baskerville Hall.
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6 Mr Stapleton, his sister Beryl, and Laura
Lyons live near Baskerville Hall.

7 He writes letters to Holmes.

8 A criminal is on the moor.

9 Watching people.

10 He runs into a bog.

11 No, Mr Stapleton meets him with his dog.

12 Sir Charles thinks Mr Stapleton’s dog is
the Hound of the Baskervilles. He is very
frightened, and he dies.

After-reading questions

He is frightened about Sir Henry.

2 The hound kills the men in the Baskerville
family.

3 He wants Watson to go to Devon. Then
Holmes can go to Devon and hide on the

moor, to watch people.

4 He is helping the criminal.

5 He can have Sir Henry’s money after Sir
Henry dies.

6 He is wearing Sir Henry’s old clothes.
Mr Stapleton and the hound think he is
Sir Henry.

7 He wants the Baskervilles’ money.

8 He wants Laura Lyons to love him.

9 She loves Mr Stapleton and he asks her to
write it.

10 No, there isn’t.

11 Reader’s own answer.

Exercises

1 1e 2h 3b 4g 5f 6a 7d 8c

Sherlock Holmes lives in London.

Doctor Watson lives with Sherlock Holmes.
Sir Henry is Sir Charles’s brother.

Mr and Mrs Barrymore are servants.

Beryl is Mr Stapleton’s wife.
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A criminal lives on the moor. He is Mrs
Barrymore’s brother.
7 Mr Stapleton runs into a bog and dies.

8 Laura Lyons loves Mr Stapleton.

31d 2a 3e 4c 5b 6g 7h 8f

4 1 Sherlock Holmes and Doctor Watson are at
home.

Doctor Mortimer lives in Devon.

The hound and the criminal live on the moor.
Sir Henry Baskerville lives at Baskerville Hall.
“No, I have work, Doctor Mortimer.”

Watson writes to Holmes every day.

“Now I know Sir Henry’s servants.”

0 N O O A WO DN

Mr Stapleton runs into a bog
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6 1 Sir Charles is dead.
2 Doctor Mortimer is frightened.
3 Sir Henry is nice.
4 Laura Lyons is sad.
5 Mr Stapleton is bad.
7 1 Holmes does not live in Devon.
2 Sir Henry is not dead.
3 A criminal does not live in Baskerville Hall.
4 1 can help you.
5 Sir Henry walks home on the moor.
6 Beryl is not Mr Stapleton’s sister.
7 Laura does not meet Sir Charles.
8 A hound kills Sir Charles.
8 1 “He is a doctor and he lives in Devon.”
2 “There is a hound, and it lives on
the moor.”
3 “Sir Henry is a nice man, but people
are frightened.”
4 “Itis night now, and there is 2 man on
the moor.”
5 “Itis the criminal, but he is wearing
Sir Henry’s clothes!”
6 “Sir Henry walks home on the moor,
but Stapleton is behind him.”
7 “Your husband is a Baskerville, and he
wants Sir Henry’s money.”
9192 2b 3b 4c 5b
Project work
Reader’s own answers.
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